Kisa BS

Simultan 2024-02-07

Partavling, 7 bord, 14 par. Antal brickor: 24. Medel: 144.0.

Plac Par Poéng % Namn MID Klubb
1 7 169.4 58.82 Jyrki Niskala - Anders Karlsson 65402 12332 Kisa BS
2 8 164.1 56.98 Bo Flyme - Peter Hahne 2260 1187 Kisa BS
3 3 162.7 56.49 Mats Nilsson - Kennet Lindblom 17418 13653 Kisa BS
4 13 161.0 55.91 Tony Lindblom - Risto Laine 21037 88882 Kisa BS
5 12 150.1 52.12 Lars Durefelt - Christer Frisk 17659 43398 Kisa BS
6 5 145.0 50.33 Ylva Ski6ld - Helén Forss 19968 9196 Kisa BS
7 10 144.5 50.19 Tomas Holmberg - Claes-Goran Blixt 9167 12046 Kisa BS
8 1 142.0 49.29 Jonas Hijelte - Morgan Johansson 88994 88993 Kisa BS
9 11 140.5 48.78 Hakan Lennartsson - Tommy Simonsson 18063 21857 Kisa BS
10 14 137.4 47.71 Agneta Lindblom - Benny Andersson 17656 12301 Kisa BS
11 4 130.0 45.15 Kent Hidsjo - Sven-Arne Svensson 17658 1030 Kisa BS
12 6 127.3 44.21 Harriet Albinsson - Bosse Larsson 44436 56769 Kisa BS
13 2 125.9 43.70 Mats Andersson - Fredrik Banck 21846 21847 Kisa BS
14 9 116.1 40.32 Liane Ringh - Evy Axelsson 44433 44435 Kisa BS
1 4 Kn983 Basta kontrakt 2 4 D1062 Basta kontrakt 3 48 Basta kontrakt
Nord v7 44 N =420 Ost vD108 5¢ S =600 Syd v KKn10642 3v S =140
Ingen + EK8742 NS + ED983 ov 2
#95 & ¢ v & NT *7 & ¢ v & NT #KD1076 & ¢ v & NT
4E1062 4D5 N 8 108 109 473 4EKNn9854 N 8 106 6 8 493 4 EDKn52 N9 5977
vKn32 v109854 S 8 108 109 vKKn632 v975 S 8 116 6 8 v 987 vE3 S95977
+ D96 ¢ 105 0535314 4 Kn42 *7 032674 ¢+ Kn10643 ¢ K985 038364
#1084 #ED63 V43534 #EKn8 #1064 V326174 *E85 #Kn3 V28264
4 K74 oK 4 K10764
v EKD6 vE4 vD5
¢ Kn3 + K1065 + ED7
#KKn72 #KD9532 2942
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poéang
4 6 3NS+2 ¢6 460 11.0 10| 3 11 3NN= «4 600 11.0 10|13 2 4¢DV-2 48 500 12.0 0.0
8 14 3NS+2 42 460 11.0 10| 4 6 3NN= L) 600 11.0 10| 1 8 4vy N= L) 420 100 2.0
2 5 3NS+1 &T 430 70 50| 8 14 2NS+2 v6 180 80 40| 3 6 3y N+2 &3 200 8.0 40
13 1 3NS+1 8 430 70 50|13 1 4¢ N+1 v7 150 6.0 60| 4 12 3y N+1 A 170 3.0 90
3 11 2NS+3 ¢6 210 40 80| 9 10 2v V-1 ¢ A 50 40 80| 5 7 3vN+1 & 170 3.0 9.0
12 7 3NS-1 a2 -50 20 100| 2 5 5¢ N-1 4 A -100 20 10.0| 9 14 2vy N+2 &A 170 3.0 9.0
9 10 3NS-2 a2 -100 0.0 12.0|12 7 44DN-1 &7 -200 0.0 12.0|10 11 3y N+1  &J 170 3.0 90
4 & EKn5 Bésta kontrakt 5 & Kn Bésta kontrakt 6 4« D10 Bésta kontrakt
Vast v 9642 5¢ N D -2-500 Nord v K1087 5NT N =660 Ost v 109743 34 O =-140
Alla + K10763 NS ¢ EKn10 ov ¢ Kn742
*4 & ¢ v & NT #KKn962 & ¢ v & NT #93 & ¢ v & NT
4 D8642 4 K973 N6 96 36 4 E9 4 87653 N 109 101011 4Kn98742 & E53 N8 6 7 44
vKKn1085 vE S6 96 36 v 9542 v63 S 109 101011 vK5 v EKn86 S 866 44
¢- + D985 O7 3 7 106 + D6 ¢ 75432 034232 4983 ¢ K105 0566 95
*K86 #D1052 vV 7 37 106 #ED1054 43 V34232 *K2 #1074 V568695
410 4 KD1042 4 K6
vD73 v EDKn vD2
¢ EKn42 + K98 + ED6
#EKN973 *87 #EDKnN865
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
5 7 3vyV-2 «4 200 11.0 10|11 12 3NN+2 ¢5 660 120 00| 2 9 34S= v5 110 12.0 0.0
10 11 44 O-2 4T 200 11.0 10| 2 9 3NS+1 &4 630 6.0 6.0|14 10 44S-2 vK -100 100 2.0
13 2 INN+1 a7 120 80 40| 5 1 3NN+1 ¢5 630 6.0 60| 4 7 3a4V= *9 -140 50 7.0
3 6 264 N-1 vA -100 6.0 60| 6 8 3NN+1 3 630 6.0 60| 5 1 3a4V= «9 -140 50 7.0
1 8 340+1 &A -170 40 80|13 3 3NN+1 48 630 6.0 60| 6 8 3s4V= *9 -140 50 7.0
9 14 3¢ S-2 v8 -200 2.0 10.0|14 10 3NS+1 5 630 6.0 6.0|11 12 34 V= *9 -140 50 7.0
4 12 34DV +1 &4 -930 0.0 12.0| 4 7 3NN= 45 600 0.0 12.0|13 3 3NS-4 a7 -200 0.0 12.0
7 4 D105 Bésta kontrakt 8 493 Basta kontrakt 9 ~ E82 Basta kontrakt
Syd v K742 54 S =650 Vast vK 64 N =980 Nord v 763 6NT N =990
Alla +K Ingen + Kn1092 ov + KKn98
«E10874 & ¢ v & NT #ED7432 & ¢ v & NT #EKn5 & ¢ v & NT
48 «Kn4 N6 45 118 46 48754 N 118 7 1210 41053 4 DKn76 N 1212101012
vE6 v DKn953 S 6 45 118 v 108632 v D97 S 118 7 1210 vE94 v10852 S 1212101012
+ D87532 ¢ E104 0786 2 4 + 8764 ¢+ EKD3 025602 ¢+ 1065 ¢ D73 011231
»K653 #Kn92 V78724 +K98 #105 V25602 #9872 D6 viili231
4 EK97632 # EKDKn102 4 K94
v 108 v EKn54 v KDKn
+ Kn96 +5 ¢ E42
«D *Kn6 #K1043
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
5 8 44 S+1 vA 650 120 00| 5 8 44 S+1 ¢7 450 100 20| 1 2 3NN+2 47 460 11.0 1.0
7 9 34 S+2 vA 200 80 40| 7 9 44 S+l v6 450 100 20|13 5 3NN+2 46 460 11.0 1.0
12 1 24 S+3 vA 200 80 40|12 1 44 S+1 v7 450 100 20| 4 11 3NN+1 4Q 430 6.0 6.0
13 4 5¢ V-2 «Q 200 80 40| 3 10 3NN+1 ¢A 430 6.0 6.0| 8 10 4NN= v2 430 6.0 6.0
3 10 34 S+1 ¢5 170 30 9.0|14 11 44 S= ¢7 420 40 8012 14 3NS+1 &7 430 6.0 6.0
14 11 24 S+2 vA 170 30 90| 6 2 24 S+3 +8 200 20 100| 6 9 3NS= v4 400 2.0 10.0
6 2 54S-1 vA -100 0.0 12.0|13 4 1¢DO-1 A 100 0.0 120| 7 3 3NN-1 46 -50 0.0 12.0
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10 4 E9 Basta kontrakt 11 4 DKn63 Basta kontrakt 12 487 Basta kontrakt
Ost v Kn104 3v S =140 Syd v K652 5¢v S =450 Vast v EKn95 5NT N =660
Alla 4108532 Ingen + D6 NS ¢ KKn106
#K108 & ¢ v & NT «ED10 & ¢ v & NT *K65 & ¢ v & NT
«DKn102 #8764 N9 99 6 8 « 104 «E5 N 4 4 11107 2 Kn954 4 K1032 N 11108 7 11
v 8765 vK3 S99 96 8 v D93 v8 S 4 4 11107 v84 v KD632 S 11108 6 11
¢+ E96 ¢+ Kn74 044464 ¢ KKn752 ¢ E10984 089226 ¢E5432 +D 01356 2
*E4 #D652 V44464 *K94 #Kn8732 V89226 *97 #Kn108 V13562
4 K53 4 K9872 ~ED6
vED92 v EKn1074 v 107
+ KD +3 4987
#Kn973 »65 #ED432
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
13 5 2NS+2 «Q 180 120 00| 1 14 44 N+1 A 450 9.0 30|13 6 3NN+2 vK 660 120 0.0
1 2 INS+1 «Q 120 70 50| 2 3 44S+1 ¢5 450 9.0 30| 7 10 3NN+1 &) 630 9.0 3.0
4 11 INS+1 «Q 120 70 50| 7 10 44 S+1 T 450 90 30| 8 4 3NN+1 2 630 9.0 3.0
7 3 2NS= «Q 120 70 50| 8 4 44 S+1 ¢7 450 9.0 30| 1 14 3NN= vK 600 40 8.0
8 10 INS+1 «Q 120 70 50| 9 11 4v S= T 420 40 80| 2 3 5#N= ¢+Q 600 40 8.0
6 9 4vS-1 *A -100 1.0 110 5 12 2v S+2 T 170 20 10.0| 5 12 3NN= v3 600 40 8.0
12 14 2NS-1 +Q -100 10 11.0|{13 6 3NS-3 ¢5 -150 0.0 120| 9 11 3&N= vK 110 0.0 12.0
13 « DKn843 Bésta kontrakt 14 4 E3 Bésta kontrakt 15 4 K975 Bésta kontrakt
Nord v D6 7NT O =-2220 |Ost v KD732 5# S =400 Syd v Kn103 44 SD-1-200
Alla ¢ Kn1052 Ingen + KKn103 NS + 10762
*72 & ¢ v o NT *KD & ¢ v & NT *K4 & ¢ v & NT
~E5 « 107 NO1460 49764  aKn52 N 119 7 9 9 «D4 4~ E63 N9 4395
vEKn1092 ¢5 S01460 vEKn10 v98654 S 119 7 9 9 v K654 vED87 S94395
¢+ ED874 ¢ K3 O 13119 7 13 ¢ ED9 + 864 023643 ¢ EDKn95 ¢ 843 04 9 104 7
*3 #EKDKN9654V 13119 7 13 #865 #EKn V23643 #Kn10 #653 V 4 9 104 7
» K962 «KD108 « Kn1082
v K8743 v- v92
+ 96 ¢ 752 +K
2108 #1097432 *ED9872
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
13 7 4v V-1 «Q 100 120 00| 3 4 3NN+2 2 460 120 00|13 8 34S= v4 140 120 0.0
8 11 540 +2 &8 -640 100 20| 8 11 3NN+1 v9 430 100 20| 7 2 2¢ V+1 &K -110 100 20
3 4 3NV+4 LY6) -720 50 7.0|14 2 3NN= 42 400 80 40|10 6 2vV+1 &K -140 8.0 4.0
6 1 3NV+4 3 -720 50 7.0|10 12 1y N+1 ¢4 110 50 70| 4 5 4v0= ] -420 3.0 9.0
10 12 3NV +4 «Q -720 50 70|13 7 2¢ N+1 v5 110 50 70| 9 12 4v O= +K -420 3.0 9.0
14 2 3NV +4 LY6) -720 50 70| 9 5 2¢N= *A 90 20 10011 1 4vO= *A -420 3.0 90
9 5 6#0+1 3 -1390 0.0 120| 6 1 2¢ N-1 +6 -50 00 12014 3 4v 0= *A -420 3.0 90
16 LX) Basta kontrakt 17 4 965 Basta kontrakt 18 & K943 Basta kontrakt
Vast v KKn 6NT S =990 Nord v 103 64 O =-980 Ost v D84 3NT O =-400
oV ¢ DKn9752 Ingen + K9762 NS + K95
+K1063 & ¢ v & NT #EKn9 & ¢ v & NT *K82 & ¢ v & NT
«EKn62 4D1075 N 10128 8 10 «KKn842 «ED103 N2 4412 «Kn75 « ED106 N3 4444
vD9875 v642 S 11128 8 12 vKDKn87 - S14412 vEKn109 v73 S 34433
*4 ¢ 106 010551 *4 ¢ EDKn10 O 119 9 1211 ¢ Kn7 ¢+ D1082 0109 9 9 9
*972 «D854 V10551 *43 #KD1052 vV 119 9 1211 #Kn1096 <#ED3 vV 109 9 9 9
& K943 a7 »82
vE103 v E96542 v K652
+ EK83 + 853 + E643
#EKn »876 *754
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
13 8 6NS= &7 990 120 00|12 2 74V-2 «A 100 120 00| 8 3 INV+1 43 -120 120 0.0
4 5 3NS+3 v7 490 8.0 40| 4 14 4e V+l vT -450 6.0 60| 4 14 INV+2 *2 -150 9.0 3.0
7 2 3NS+3 v7 490 80 40| 8 3 4eV+l vT -450 60 6.0[10 1 INV+2 43 -150 9.0 3.0
10 6 3NN+3 v7 490 80 40|10 1 5e4V= a5 -450 6.0 60|11 7 INV+3 43 -180 6.0 6.0
9 12 3NS+2 v5 460 30 90|11 7 5e4V= vT -450 6.0 60| 5 6 3NV= 3 -400 3.0 9.0
11 1 3NS+2 v7 460 30 90|13 9 4aV+l vT -450 6.0 6.0]|13 9 3NV= +9 -400 3.0 9.0
14 3 5¢ N+1 +6 420 0.0 120| 5 6 44 V+2 vT -480 0.0 120|112 2 3NV+1 *2 -430 0.0 12.0
19 4 ED73 Bésta kontrakt 20 & KKn942 Bésta kontrakt 21 493 Bésta kontrakt
Syd vKn1063 5¢ S =400 Vast vKD9 6# V =-1370 Nord v 107 6v O =-980
oV ¢+ D75 Alla +D3 NS + Kn1075
*Kn6 & ¢ v o NT #432 & ¢ v & NT #E7653 & ¢ v & NT
4 KKn86 442 N7 116 8 8 46 « D87 N11262 4KD10854 & E72 N56111
vEK752 v D984 S 7 116 8 8 v 853 v EKn102 S1126 2 vKD62 v EKn98 S56111
¢ Kn6 ¢ K2 06 27 44 ¢ EKn9742 ¢ K10 O 1211117 8 ¢ 42 ¢E3 08 7 121111
#98 #K10752 V62744 *EK9 +D1076 V 1211117 8 +10 *KD82 vV 8 7 121111
#1095 «E1053 + Kn6
v- v 764 v543
+ E109843 + 865 + KD986
#EDA43 #Kn85 *Kn94
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
1 3 4vDV-3 +5 800 120 00| 1 3 3NV-1 «4 100 120 00|13 11 5vO= +K -450 12.0 0.0
5 14 5¢ S= vA 400 90 30|11 2 320+1 &A -130 90 30| 1 9 4aV+2 49 -480 50 7.0
11 2 5v0-4 ¢A 400 9.0 3.0|13 10 3¢ V+1 a4 -130 9.0 30| 2 4 4eV+2 vT -480 50 7.0
6 7 4v V-2 ¢5 200 50 7.0| 5 14 2NO+1 4A -150 6.0 60| 7 8 44 0+2 46 -480 50 7.0
13 10 3v V-2 ¢7 200 50 70| 9 4 3NO= 5 -600 40 80|10 5 5e4V+1 3 -480 50 7.0
9 4 4v V-l «A 100 10 110 6 7 5¢ V+1 vK -620 20 10012 3 4v O+2 49 -480 50 7.0
12 8 3v V-1 ¢+Q 100 10 11.0(12 8 3NO+1 43 -630 00 12014 6 44 V+2 *A -480 50 7.0
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22 a4
Ost v EDKn10975
oV + D9
#E82
4 KD762 #10953
v63 v-

¢+ E64 ¢ Kn8752

#DKn6 #K1054

& EKNn8
v K842
+ K103
2973
Par Kontr Ut
1 9 4vy N+1 45
10 5 4vy N+1 a3
13 11 4v N+1 oT
14 6 4vy N= a3
12 3 5v N-1 T
2 4 59yDN-1 T
7 8 44DV = +Q
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Kontr Ut
3NV -2 v6
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Basta kontrakt
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Vast
Ingen

Par

8
2
3

11
13
14

1

a5
v D10953
+43
#Kn9643
& EKN97 4 KD642
vE72 v KKn8
¢ KD108 +¢65
&52 SEK7
41083
v64
¢ EKn972
D108

Kontr Ut
9 44 O+1 v6

10 44 O+2 v6

5 46 0+2 v6
6 44 O+2 v6

12 44 O +2 v6

7 46 O+2 A
4 64 O= *4

Basta kontrakt
6NT V =-990

Res

-450
-480
-480
-480
-480
-480
-980
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